2023 Uk 3xF=& (Cte ®M )
= 2 ol 2 (A) Xl £ 9| = (B)
H & o = Ofl &F K A 8 o = Ol &1 K
ST 2 Al 0] SUAAHS Al 0
ENRIISHMESS 0 Ho= 0
HE =SSz 0 SENAASH 0
JBIEN T H = 0 HE=S 0
RE ALK Z Al 0 JIEHS KHRLAF 0
K &FOH 2= 0 »ELHH= Al 13,022,444
ssifH+S 0 EX 0
JIEtEl =S XA & Al 0 HE 0
e 0 2= 20,000
JIEtH =S AHAtOH 2 4= 0 == 12,224,978
FSEM=E Al 0 JIAEX 691,696
g+ 0 AgtEer- 0
Bt RS+ 0 SJ|28lIS 85,770
HersSEH+g Al 0 JIEt= S KAt 0
S2AE =S 0] PFEXLIIEIHI RS AL Al 0
=S8/ |2+ 0 LHATHAA S 0
A=Y 0 2T E A0 0
Bt RS2+ 0 28= 0
A2+ Al 0 JIEtH| 2 S Xtk 0
A= O HIISEHIXNAMHS Al 0
A2ds+=g Al 16,293,000 AL SO 0
NEEE=+Y 0| =ms=FHae Al 0
ElslHALEEES Y 16,028,000 SIS S & 0
SANEE=+Y 265,000 et S et et 0
HelEgss+g 0| Bl=s=afet Al 0
JIEt =2 d=+Y 0 d2Xg==sats 0
=2X= Al 5,222,274 ss/|dtdsdsa@ 0
=NAL0HS 5,187,274 RPN S =g F=p s 0
Ol=== 35,000 JIEtH RS2 a8t 0
JIEtR 2 A+ Al 0 JIEtU=2A8X = Al 1,569
JEetEs Y 0 ZREL=s 1,569
BE=s 0
IS PN =R PN 0
Gl g1yl Al 411,791
G[]=]}s] 411,791
st Al 21,515,274 2 Al 13,435,804




